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Which currency has greater face value than its intrinsic value? ¢ ¢ Jyr ol e A J‘f fl 28 Sk Ju‘ P uf

Lo 52 Jb Lsf'ﬁu'.'—’/)("-—()f‘}’jbié-) &Vﬁ;’]./;{,(éb’dlz-u! L DA, B,C ..-:I..L?.,:f/(:z.s?.ﬁ tedly
_Eor ' 4l A2 uflu.fewf‘,(é.fl,/&b/ L Lf{.fu:}b whi e Ll -y A e of L/A
NOTE: Four possible answers A, B, Cand D to each question are given. The choice which you think is correct,
EresmE il that Bubble in front of that question with marker or pen ink. Cutting or filling two or more
S bubbles will result in zero marks in that question.
QUESTION No. 1 Py ~2Y - 1-AJ»
' A Commercial Bank does not pay interest or profit on followings : ..bfu.’f 3] (‘jl’/ Law g UFu J{J (9%} s G/b’ -1
Fixed deposits (& 22+ (D) Demand deposits (FU o“ (C) Saving deposits S <= (B) Time deposits LU Sl (A)
Monetary policy is related to : ' - J‘; ((5‘3‘}; s 2
Foreign Banku&(‘};gz(D) Central Bank _t;idf/(c) Provincial Govt. M:‘JL:’ (B) Federal Govt. Y JG: (A)
fFinal burden of indirect tax is on L Jar & b’gg A | 3
Customer4¥(D) Shopkeeper /4% (C)  Whole seller J‘;/Jf? (B) Producer u‘»‘(l,g(A)
What type of budget ié better ? . } Te b JFh o4 b’(:’ uf -4
Unbalanced wt?} (D) Balanced i (C)  Deficit ¥e\? (B) Surplus J6(A)
When was World Trade Organization (WTO) established ? Sl ../rg ¥ (WTO) sl JJ?’ dlb -5
¢ 1984 (D) £ 2000 (C) #1999 (B)' £1995 (A)
Who presented the comparative cost theory of international trade ? § ' P Jf,_,/“ ¥ JJW&W Kedd g0t | -6
Pigou :.c.,(D) Adam Smith i"(:f (C) Ricardo 5.4 (B) Fisher ¥ (A)
Total forest area in Pakistan is - Y ;}lb’c’lﬁe 194 ul‘fg -7
' 9.6% (D) 7.6%(C) 5.45% (B) 5% (A)
When fiscal year is ended in Pakistan ? ' b f} Jdlr G Vu(‘ﬂ’!; -8
¢z 30June (D) & 1% May (C) &4 31%March (B) #7131 December (A)
The process of economic development is : o l.)! ..{l (57 U’l"‘ 9
Average term K ikl (D) Longterm Keul#(C) Oneyear KL Li (B) Sshortterm b’..-u.JB(A)
When was research council established ? {4 Y J ..fr_l?' b’g}"’f&,&/ -10
. #1960 (D) #1957 (C) £ 1953 (B) #1951 (A}
The Motorway from Lahore to Islamabad is: -4 Hk(é.,,}y‘ )QT(M tasy | 11
) M4 (D) M3 (C) M 2 (B) M1 (A)
Pakistan television was established in _Jyt [y Ju}_;df 94 ul‘f}' <12
£1966 (D) £ 1964 (C) #1962 (B) $1960 (A)
The following bank issues currency notes in Pakistan: - t'/dzlg <o ()"/u‘.' ut'-@ 13
Saving Bank _.C.:,,i (D) Industrial Bank ;ﬂé’y(C) Commercial Bank ..QLLLF {B) State Bank L (A)
The Zakat on silver is due on : 4 A s | 14
J7 50 Tola (D) J? 52—;- Tola (C) J7 47.5 Tola (B) J# 45Tola (A)
SAARC was established in : 4T L J oy S | -15
#1985 (D) #1980 (C) ¢ 1990 (B) £1975 (A)
In capitalism prices are determined through : - ‘3/‘}? Vs (W s A -16
Producers /2T (B) Government =% (A)
Equilibrium of supply and demand git? ('L ¥ +s5 ¥ (D)  Govt. and producers of 2T =% (C)
o bl |l £ L g ST 6 L LS b g & (ol 17
To find out gross domestic product, the following is deducted from gross National product.
Foreign income (}JT ufd”l.r = {‘2‘/3 L};,g (B) Depreciation allowance =)/l Ly _-,.(5(/,\)
Transfer payment UyZii J6% (D) Indirect tax} u‘g L9 (C)
The equilibrium level of National income means: - 5/ UJ‘P' J(}AT 1) -18
National income = Consumption &7 (3/=J;T di'(B) Aggregate demand = Aggregate supply 4 Jﬁ:»._,lbd’/: {A)
Gross product = Net product ;ul&‘f"l;wl;f&(l; (D) Saving = Consumption &.?==4 (C)
When was presented quantity theory of money by Professor Irving Fisher ? "qu‘j .../uyu'ir ,:.}7 e /"5.,5/!/.‘.;:4 .19
#1779 (D) #1914 (C) ¢ 1911 (B) £1897 (A) :
20 l

illegal Money JJ(}J’F/:} (D)  Helping Money 44! (C) Token Money 4% (B) Standard Money 4§ (A)
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Part-1J¢l e
Q. No. 2 write short answers to any Eight of the following 2x8=16 2= (12 &L AT 37 2,70
What is Saving Function ? p&L, )/y fe Vef S| i
What is meant by Transfer Payments ? « S iy _(_/c_ u,:gl;l Jo3 ii
How to avoid Double Counting ? P (R ,lfc_‘_fc_. BB LR | i

What is meant by Marginal Propensity to consume ?
State important kinds of Money.

What is credit card ?

Explain limited Legal Tender Money in three lines.
Write the names of any three types of Money.
Write two functions of Commercial Bank.

What is meant by open Market operation ?

Write down the Formula of credit creation.

Define Cooperative Bank.

Tq.:l/k(cdfulk'(.‘? iv

&b rLJl ("' JJ} v

AV P g’;h’&if vi

_4’,{ =l L ik ui J L}iﬁ' 23 s | vii
.4!(L-L Ui of ¢ &S | viii
4 .ﬂ; » L BN | ix
?ﬁ:_Jl/Lfc_q_FLJb&! X

2 i ¥ 3§ g | xi
Z L S| xii

Q. No. 3 write short answers to any Eight of the following

ez 2L ST 37 3 U

2x8=16

What is meant by Public Finance ?

What is meant by cannon of simplicity in tax system ?
Write down any two advantages of direct tax.

Why Government takes loans ? Give any two reasons.
What is meant by international trade ?

Differentiate between current and capital account.
Write the definition of comparative advantage theory.
Why World Trade Organization was established ?
Write the names of four industries of Pakistan.

Write the names of four crops of Rabee season.

Give four suggestions to promote industrial development.

What kind of tax culture Pakistan has ? Write two lines in this regard.

fesplc by | i
Tq._:l/k(c;(f:(fdr'lﬁurﬁ ii

2 e 3L e | i
-:;!..-.-4_«2,» U’JJ(Y{_&’U[&; e | v
Se sy e wdf SFuE | v

-ggcjk J/. A b A2l Uhs A | vi
A w76 dv F | vii
VgV TPy N e (0 ¥ (WTO)ubst e o | viii
~F Ly o | ix

-q’{.(/’ rt £ U:l) " Jy; X
-@Z’?Jbé‘éréﬁfédfa’/ xi
-Ju:‘llui‘ 4.“’/"[? b’um xii

Q. No. 4 Write short answers to any Nine of the following 2x9=18

ez 2L slnlyc_JfA/dfy

Write three names of factors of economic development.
.Define E — Government. .

Explain Mobility of Labour.

Define Capital Market.

Explain demand-pull inflation.

Define value added tax.

Define custom duty.

Write cultural and social impacts of W.T.0.

What is meant by exchange rate ?

Define equality.

Define Economic Development. Tq. Apfe 8760 | i
Write four problems of under developed ecanomy. _.é /,;’ J o 1 L o v d/ ii

s of Ml L3730 | i
Sespfa sl @ iv
74_;1/1/;.(54@";({.-;; v

fe. dpfe bW | i
Y.T_JI/M‘JJH}! (ikfé:h,‘“ vii
w78 s | i
A8 |
_ggl}ldﬁ’&PLWTO "X
Tq_:l/krz.,.l;[/'b; Xi

fo sty e abls | xii

Write a short note on interest free banking in Pakistan. i P 408 S Por 2 L ot | xiii
Part-ll pgasaa

NOTE : Attempt any three questions from this part 3x10=30 -é(j’u Liz La!lgugﬂf_dfc. S JI:&J

Write a detail note on different concepts of National Income. o g = B L duT 67 5../;)!;’

Discuss the various cannons of taxation. _q"‘.-’-: &5 4 Ut ¥ L LS 5 u‘g 6../.}()1:"

Explain the advantages of International trade.

_.éug 29 £ g St | 1-Adir

hY
Explain factors enhancing productivity of labour.

__io’l): d,Jlf L d S 5L A =2l Sitslag J:Jf

8 -ﬁ}'J'}"

Write note on the followings.
(A) Justice
(B) Equitable Distribution of Wealth.

_gf <y Jits
Ja (i)
oo (-'j Sl (@)

9 -/U!r

30 (Sub) -1** Annual 2024




